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QUESTION 1

Your client uses Resource Breakdown Structures (RBS) and Resource Mapping to associate amounts to resources.
After making some changes to the resources at project level, forecasts are regenerated. After reviewing the cost
amounts associated with the resources, you suspect that the cost association does not match your client\\'s
expectations. 

Identify two valid rules based on which cost association works. 

A. If the sum of precedence numbers is the same for more than one branch, precedence is given to the branch with the
lowest number at the lowest level. 

B. If there is only one level in RBS to which the transaction maps, the cost amounts are mapped to that level. 

C. If a transaction maps to more than one level, Oracle PPM Cloud sums the precedence numbers for all resource types
in the branch, and gives precedence to the resource element in the branch with the highest sum. 

D. If one branch contains a user-defined resource type, precedence is given to the branch that contains a user -defined
resource type. 

Correct Answer: AD 

Reference: https://docs.oracle.com/cd/E37583_01/doc.1116/e22598/F458900AN13D82.htm 

 

QUESTION 2

Your administrator creates maintenance conditions on the Maintain Project Enterprise Labor Resources page. An HCM
person is included in a condition with a process order value of 1 and, additionally, there are three other conditions, all
with a process order value of 10. 

Identify two correct statements about the Maintain Project Enterprise Labor Resources process as it relates to process
order values. 

A. For the three conditions that have the same process order value of 10, the records are processed in ascending
alphabetic order based on the condition name. 

B. The process creates a resource by using the condition with a process order value of 1, but does not create more than
one resource for the same person even if subsequent conditions apply to the person. 

C. For the three conditions that have the same process order value of 10, the records are processed in ascending
numeric order based on the condition name. 

D. The process creates a resource by using the conditions with a process order value of 10, but does not create more
than one resource for the same person even if subsequent conditions apply to the person. 

Correct Answer: AD 

Reference: https://docs.oracle.com/cloud/latest/projectcs_gs/OAPEX/OAPEX1082603.htm#OAPEX1082584 

 

QUESTION 3
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A consulting services company is currently working on a business transformation project for your client, which spans
multiple years. At the first period close, the consulting services company has recognized revenue and the accounting
entry 

created is: Dr Unbilled Receivables 40,000 Cr Revenue 40,000 

At the end of the period, the client is sent an associated bill. What would be the corresponding invoice accounting
entry? 

A. Dr Accounts Receivables 40,000 Cr Revenue 40,000 

B. Dr Unbilled Receivables 40,000 Cr Unbilled Receivables 40,000 

C. Cr Unearned Revenue 40,000 Cr Accounts Receivables 40,000 

D. Dr Unearned Revenue 40,000 Cr Revenue 40,000 

Correct Answer: A 

 

 

QUESTION 4

Your customer has a requirement to import and process third-party transactions that are "costed" and "accounted".
Which configuration option allows you to set up these controls? 

A. Document Options 

B. Transaction Source Options 

C. Import Options 

D. Document Entry Options 

Correct Answer: B 

Reference: https://docs.oracle.com/cd/E51367_01/projectop_gs/OAPJC/F1071488AN1004C.htm 

 

QUESTION 5

Which three duty roles are associated with the Project Manager job role? 

A. Project Definition 

B. Project Requirements Management 

C. Project Resource Assignment 

D. Project Plan Management 

Correct Answer: ACD 
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QUESTION 6

Which three are part of using the Rapid Implementation for Project Financial Management Applications macro-enabled
Microsoft Excel spreadsheet to enter setup data? 

A. Upload setup data. 

B. Generate CSV files. 

C. Import Projects. 

D. File Import and Export. 

E. Prepare setup data. 

Correct Answer: ABE 

References: https://docs.oracle.com/applications/farel12/projectop_gs/OAPFM/OAPFM2264569.htm#OAPFM2159921 

 

QUESTION 7

Which three of the project DFF attributes can you use to capture additional project information? 

A. Independent 

B. Number of field workers 

C. Internal Project Category 

D. Launch Date 

E. Integer 

Correct Answer: BCD 

Reference: https://www.oracle.com/webfolder/technetwork/tutorials/tutorial/cloud/r12/wn/r12-ppm-wn.htm 

 

QUESTION 8

You have defined two expenditure types but they are not available for selection when you enter an expenditure batch.
Identify the reason for this problem. 

A. The two expenditure types are not assigned to the reference data set that is assigned to the project-owning
organization in which the transaction is performed. 

B. The two expenditure types are not assigned to the reference data set that is assigned to the business unit in which
the transaction is performed. 

C. The two expenditure types are not assigned to the reference data set that is assigned to the project unit in which the
transaction is performed. 

D. The two expenditure types are not assigned to the reference data set that is assigned to the project expenditure
organization in which the transaction is performed. 
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Correct Answer: D 

 

 

QUESTION 9

In a Project Draft Invoice preview, quantity (hours) and unit price (bill rate) are shown as fields on the invoice. Quantity
and unit price are then used to calculate the line total, then the total price of the invoice. After the invoice is transferred
or created in Receivables, the invoice detail has a quantity of 1, and a unit price equal to the line total. The detailed Unit
Price/Quantity does not come through on the Receivables invoice. 

Which statement is correct about details in the Receivables invoice? 

A. The project sends the invoice header, invoice line description, and the invoice distributions to Receivables. 

B. The project sends only the invoice header to Receivables, not the invoice line description and distributions. 

C. The project sends the invoice line description and the invoice distributions to Receivables. But not the invoice
header. 

D. The project sends only the invoice header and invoice line description to Receivables, not the invoice distributions. 

Correct Answer: A  

 

QUESTION 10

Which three changes can you make by using the page composer tool? 

A. Add custom attributes to existing objects 

B. Reorder Fields 

C. Add validation rules for the custom attributes 

D. Show or Hide a Field 

E. Change a field label 

Correct Answer: BDE 

Reference: https://www.oracle.com/webfolder/technetwork/tutorials/tutorial/cloud/r13/wn/r13-2018-ppm-wn.htm 

 

QUESTION 11

You are implementing Project Portfolio Management for a global professional services organization. In their Consulting
Services line of business, it is common to use resources from different business units based on the skills required.
Therefore, cross-charge transactions happen between business units within the same legal entity. Transfer price
calculations need to be based on raw costs, with no further adjustments to transfer price. 

Identify two setups that can drive this borrowed and lent agreement. 
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A. Transfer price basis must be Raw Cost and calculation method must be Rate Schedule. 

B. Transfer price basis must be Raw Cost and calculation method must be Basis Only. 

C. A document entry such as straight time must be enabled for cross-charge transactions. 

D. Transfer price basis must be Burdened Cost, and calculation method must be Burden Rate Schedule. 

Correct Answer: CD 

 

 

QUESTION 12

A project administrator is trying to assign a team member for a project, but cannot find the person in the team member
list on the Project Definition page. What is the reason for this problem? 

A. The employee is not assigned with a supervisor. 

B. The employee is not assigned to the project-owning organization. 

C. The employee is not assigned to a department. 

D. Project roles are not assigned in the project. 

Correct Answer: D 
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